[ Efficiency vs vertpos |

-
e
(]
>
»
>
>

[S]
c
[}

ettic

Ratio

Efficiend

N

=
[
>

[
>
>

5
c
o

e
=
)

Ratio

0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

.................................................

.................................................

.................................................

.................................................

q

0.8

0.6

R R L AN RAR R LRRRN LR LA RNl RRRE LARRN LELLE LR

1072 107 1

10 0?
TP vertr (cr%)

Do 11, =

gsngl%BFnelLess
b ¥u>]tl
p3_TT _defaultNEWTOLDSAMPLE

[ofeXeXeks:

0.2
0.18
0.16
0.14
0.12

0.1E

0.08
0.06)
0.04
0.02

0

12

1

0.8

=30 -20 -10 0 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o

£
n

Y
>
>

[S]
c
()

=
£
3]

Ratio

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.0

510 15 20
Sim. PV z (cm)



	Contents
	Page 1


